ALEBADFE (L% F—45)

O1 88 (2A48) 094 L57—7 )L
(BF218] REG3E, ZRPEH, APFEATLR, BHPLR

[£F435%)] KEPZKR, FAPER. fBPZR. BlLPER
Bzl 18 B A =
8 : | 5 HREEEMS F—L%IRE  (KRFEEARLR)
XF—LZFIIRAAREHMD | 52TFE TISITS
8:29 || XEnERAHEE
8:39 |Zatrta-n1
8 :50 |F ek
q : 50 |$2:XEMkRERRM %1 ReRTE. | 0B ER&GY
1 0:50 [# 345k ERR 28R TE. | 0B EAR&GY
11 :50 [F4REMMERERR E3ReKRTE. | 0Kk EIE, SHPMDLRHGY
1 2 :50 |FEDF— LBIBER ES5RAOUBDF — LHRIBAICNIBT
I 3:30 [£5AAMM5RERR B4R RTE. | OB ERGY
| 4 : 30 |5 645X ERR (55618 TE. | 0B EAR&GY
1 5:30 [F7XE6MERERR Eo6ROKRTE. | 0K #IE, SHMDLRHGY
2AERT

OC28H8 (2A58) o914 4L57—7L

[(BF] RPbFR. BHPER

[£F] KEhZFK
B %) L = A =
9 :00 {KEEEREE F—LZHBEE (X427 —FTAZH)
KF— LZAFIIAGREFMD | 59T TISITH
q9: 14 |EIRECNERAHET
q9:24 |EI1FE7Tatba—-0
q:35 |F 6%
1 0: 35 |5§2:XERMkREmFmM %1687, | 0B ER&GY
I | : 35 |5§3XERMkR e 2581 T1E. | OB KkBENE. SHMDERET
(FB22RXE» 7Lty FDIBEIE | 59)
MRBRTHE3IMO— FRELZITS
| 3:35 [F4 X415 ERR E3RERTE. 300 KkBENE. SHBDERHET
| 4 : 35 |$5 XM ERRM FELRERTE. SPMNERMET
SRR TIZ | - 2 REE2TS
2HERT




